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X = T ¥ [
FEHLTWS [EHLTWZ2W EHLTWS [EHLTHRN
/Al FE(~290) 130 77 11 194
HRAE3E (B30 A~) 61 5 36 30
= B 191 82 47 224
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ERALTWD ERHLTWARNY EHLTWS EHLTH2RWN
/A ZE(~290) 26 10 4 31
O | HRRMEFEGOAS) 3 0 1 2
= B 29 10 5 33
/AR FE(~290) 14 3 1 16
BOME E | RRMEFEGOA~S) 16 0 14 2
= B 30 3 15 18
b A (290 47 26 2 69
ﬁ”ﬁkég PR3 (30 A~) 13 1 6 8
= B 60 27 8 77
/AR ZE(~290) 5 3 1 7
pa %E we | PRAEFE (BOA~) 3 2 2 3

fr B %

= at 8 5 3 10
/AR ZE(~290) 18 15 1 32

RENPESE | PRAEZE BOA~) - - - -
= at 18 15 1 32
. /A ZE(~290) 3 2 1 5
% fg g | PREZEGOA) 6 2 4 4
= at 9 4 5 9
/A ZE(~290) 12 13 0 25
PR | PR (BOA~) 14 0 6 8
= at 26 13 6 33
/A ZE(~290) 5 5 1 9
< O At | PRAEZEEBOA~) 6 0 3 3
= B 11 5 4 12




